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MARKING SCHEME
SECTION 4 M b
r\
*'- Define the term environment,
. . v
\//ﬂ) = Enmmmcm 1s the external conditions that surround an organism'l/exlemal i Z
conditions thay influence the development and behaviour of an organism. 2 (2-marks)
(®) | Name divisions of physical Geography.
Climatology / Mﬂwn'ogg- Any 3 x |
Biogeography / & (5 log 1 ={3-marks)
= Geo - x|\
. i -
———— ‘-"_rft, ns -+ Z— Z@_lb
2 (a) | Give three characteristics of comets.
) * They are made up of frozen gase‘g d&u«lhd,@uﬂzﬁ rocky particles.
A -’\"‘}k > They have a head and 1a]
| 313‘5' = They move along oval.s orbit,
N -
- They cross orbits followed by the planets, Ay 3¢ = 3 E-marks) 3
(b) | State three proofs that show the shape of the earth |s spherical.
= £ ircumnavigation along a straight path leads one to the starting point from the
opposite direction, o
- Photographs taken from satellite clearly show the earth is spherical.
- The gradual emergence of a ship approaching the shore.
- During lunar eclipse spherical shaped shadow of the earth 1 cast on the moon.
- The earth is a planet and all planets are spheres.
- The different times during which the sun rises and sets in different parts of the
world.
- The earth’s horizon appears circular/curved when viewed from a very high point.
Any x| =
L g3l - 3 G-marks)3
3.(2) | Give two types of igneous rocks. |
o ludwce [ %éj;ca[} @
- Intrusive igneous rocks, Plutoncc [y
- Extrusive igneous rocks. / Vo @ v ¢ -
(b) | Identify three uses of rocks,
- Rocks weather down to form soils which support agriculture¥”
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- Some K !u-n {peged [u:. L5
- Some rock features are tourist attraction.”
- Rocks provide materials for building’fconstmction.
- Some rocks provide raw materials for manufacturing'industry.
- Some rocks are source of minerals.’ Any3x1=
- Some rocks are used in carving.” (3-marks)
- Some rocks are source of salt.f/ ﬁf{ bng 3K g - |
4, The table below shows the rainfall and temperature data for town Y. Use it to answer questior@
(a) |
Month JIF IMIA[M[J [J (A |S|O|N|D
Temperature (°C) [ 21 [21 |20 |18 |15]|14 |13 13 |15]16|18 |20
Rainfall (mm) 2412513074 |17 [ 143 [ 131|126 [ 70 | 55|31 | 27
d (a) (i) Whatis the mean annu;l range ol': t_(;{_'nperaturc? ¢1-mark)
(_2l—l2b=85(3/% ~ | T¢ I
(i1) Calcutateithe rainfall totals for town Y. l 5
753mm ¥
(b) State three clim/atic conditions experienced in the hot deserts.
- TLow rainfall/below 250mm per year.
H ﬁléh tefr;;;é’;ﬁjtdres tﬁ;éllél(lsti?l;he yeal}.-’i{ ver 48 L _
_ The diurnal range of temperatures is very larggf' hat ¢ f? o G { (ed] m s
- Low humidity/!" bolod #1%
- The skies are cloudless/ {Liad ’ y
_ There are strong dusty winds/sand storms/._‘/ 5y W cls ) Aﬂy_‘i e
hvy 3K 1 C | Gmarky ;
5. (a) | Differentiate between ocear and sea. f
4 |- Anocean is a large/extensive body of saline water occupying a basin between
/| continents, while a sea is a large body of saline water along the continental
margins. V
@
2 mrarkes)
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WTE«- diagram below shows some coastal features, Name the features marked E,
Fand G.

E - Blow-holc/ (fimf)

F - Cave

G - Chff
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SECTION B

Answer question 6 and any other two questions from this section.

6. (a)

V()

Study the map of Kijabe 1:50,000 (Sheet 134/3)

Provided and answer the following questions.

Convert the scale of the map into a statement scale.
Map scale: 1:50,000
lem rep 50,000

5000cm = 50000km
100000

= 0.5km

v e
Statement scale is 1cm represents O.ﬁ/’:kma

y
J
S

(2umarlks)

® v (1)

What is the bearing of the pump house at grid square

3893 from the trigonometrical station at Mweri.

o

300°*1° o 19 - 40| » i‘i .:\[b('ci\{ ;} {.f\[‘b-,“iﬁ— né

') (2-marks)

(iii)

Calculate the area of the part of the forest to the East of

Easting 40 and South of Northing 97. Give your answer

in square kilometres.

Full squares = ¥ !
1 & 20
— square — =_9
5 MRS

26
T \ / . ‘/_1
= 26+0.5km’ &*”f - o Km -

6  (2marks)

(b) (i)

Apart from forest give three types of natural vegetation
found in the area covered by the map.

- Thicket ~

- Woodland

- Scrub 7

. Bamboo”’

v
. Scattered trees. Ay 34 3

Any 3 x | = (3 marks

T
b
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(ii)

Identify three drainage patterns found in the area covered by

the map. o

- Rndial'/dmimge pattern.
- Dendnitic ‘drainage pattern.

- Parallel ﬁminngc pattern. A

() (1)

Using a vertical scale 1em to represent 100 metres, draw a
cross section from the water tank on grid square 2592 to the
peak of Kijabe Hill on grid square 2699,

On it, mark and label the following:

= All weather road bound surface.
Railway line.

- Steep slope.

(4 marks)

(3 marks)

312/1MS 6
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20

A cross section from water tank in grid 2592 to peak of Kijabe hill

/s5
2800+ Steep slope -
2700- r_a._——— /1;.“).
2600- ; ~ (00
; 7 R \* 7
2500+ 7 ﬂ\ Railway line ]
2400+ All weather
23004
¢ \/ 2200+
2100+
19004
18007
17004
1600
Water tank 1:50,000 '/H Kijabe hill peak
f g f "-;'-r:'- )
'} r ,‘
H—1
Ta— |
Splip- |
d—
R4al-- 1
|

7

312/1MS 7



(1)

Calculate the vertical exaggeration of the cross section.
VS l:lOOm
HS i 50.0(K)cm
1:10008 v/
x5
1:50,000

2~ G (marks)
(d) | Citing evidence from the map identity two economic activities
in the area covered by the map.
Economic activity o ] Evidence
e
Transportation { - Roads'railway
- echy. V& j 5 otorabl
"3 F;/’St&’ _( "' f']rsi:% rr'{ £ ’f"-‘ F“k rf &Z(.Fwi Mmj’ [a"" fw"g
Trade v i %%Pxﬁ?:un ;»—M ,1¢€uffﬂ“ﬁ
= (gmmui (gochon —- it (N (. - ¥ < j
- Quarrying Vo a (l 'Vaﬁﬁﬂy gju.,.m? be hyd) o
- Lumbering /a Saw mllls Ve (ftfwfi'
. Canic rcanng/% mg . lec dn&dﬂlﬁhﬂh 1z G AnyIx2=
- (‘U A V-&
n(.nt%’wm 0 ing | - 'tsif' ts: f:.Lu:b:':/c:d plant (FTrorks)
7. (a) Deﬁne the term vulcanicity, g: ﬁi?}: [ V@
(i) | Vulcanicity is the process through whick liquid, solid or gaseous
v . ity
4 mtmalsﬁ' into the earth or onto the surface
of the carth, dw fo byl pesie ddd Twpuafive. (Rerrvarkes)
(1i) | Name the three stages in the life cycle of a volcano

ActiveY”

Dormant?’

Extinct V 3-marks)

3 5
(b) [ Describe how the following volcanic features are formed.
Lava plateau
312/1MS 8
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’k Sucpessive eruptioné(

It is formed when magma reaches the earth surface through
eithersingle-or multiple vent‘s{ﬁssures
The lava is ulh‘a—bmﬂextremely fluid.

The lava ﬂows over lan§ distances spreading evenly
l\\ el /’n (STeng, s
'(./..{ul& \/

o olic
to more and more layers buildix}g up
g CLLJ'C ‘(';L.-.L[, ’m(h’zf‘ V&

(Ev£nivg

The lava cools slowly, i«

( f‘ PALK ‘f) 4

Geyser

v .
Water percolates underground through cracks in the rock.
The water gets into contact with hot igneous rocks.
j‘l-}he water is superheated \/o form gases/wpwr741ll ek

(w2 oo ‘1 £
he pressure . forces the steam and water to be qected“t/o the

surface. |
. emi f{’"‘l ] )
The water and steam is-emptigd intermittently as pressure

level changes to form a geyser””

(W BALGE ‘—*\) 4

Any4xt=4

i

(iii)

o
Adh
PRl =

Caldera

Y

Lava po%g—out of a central vent to form a volcanic cone.
The vent n:aiy be sealed‘(vhen lava solidifies in it.

The solidified lava blockévfhe gases and steam beneath,
preventing them from escaping.

Pressure piles up"l/)elow the lava.

The pressure leads to yﬁ@m@p@i\mgLMmeﬂﬁe_top
of the cone forming a depression.

The depression is large and circular‘and it is known as a
caldera//.OR

. v
Lava pours out of a central vent to form a volcanic cone

312/1MS9
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(c)

Explain four positive ways in which volcanic fem

activities.

- Volcanic lava upon weathering forms fertile soils which are used in

agricultural activity. v IU\( ( %
AN il
- Some volcanic plugs{ have valuable minerals which are isef
Q\@m jeA L ":?

¢ used in harnessing geothermal electricity for
domestic/industrial use.
- Some volcanic features attracts tourist%aming a country foreign
exchange. - | ﬁp
- Volcanic mountains influence the formation of relief rainfall on their ot
slopes which encourages agricultural act1v1t1e§[settlemem‘(/ s Y v
- Volcanic lakes are used for ﬁshmg“{vhlch is a source of income/food.
- Some lake a}i:; source of water for domcstl‘i//mdustrlal use.
- Volcame—meuntams-hﬂe-foreswmdrprovrdmﬂbﬁ:ﬁ-
building/construcfmﬂ
. Volcanic mountains are a source of rivers which provide water for

./H Y7

domesti ldem irrigation.

£
- u*ricpw‘ £t uvcrl\ \1,( lt,uc- V/ Wﬂ’
- (‘(”‘L_ \ ](( s g 5(,(/\, Carc Hst(\ G "‘)M\(“{-l
|uuhwt-|s' Any4x2—=738
/ _____ Py 4‘ | =7 g gl(\m
The map below shows some vegetation regions of the world. Useitto @

answer question (2) () and (ii)

- B B
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(a) (1) | Name the vegetation marked H, J and K.
H - Coniferous forest
J—tundra v*
K - Tropical desert v/ g 3.marks
(i) | Describe the characteristics of the vegetation found in

the area shaded and marked L.
- The trees grow close to each othe'l:/ (lo S('{ Y Pt m'{ , .
- The trees form canopies.”//}-r-r fheew cAtdad la J(ﬁ i)
- The trees have straight%smooth trunks.”” ‘
- Most of the trees species are hardwoods/
- Thf(g*ees are evergree'n/
- The trees have broadlleavesjdrip—tipped leave/s.
- The forests have little or no undergrowth./
- Forests consist of a variety of tree spccieé/.f
- Some of the trees have buttress roots.”” Any 6% }=6tmarks
- The trees are tall.’/ o
- .[_lu At han C (uwﬁm a ‘Q.fn lelj feq
- rees Az \D\:J \ v \v\({hx{ o

boet G x| 61

(b) | Explain how the following factors influence distribution
of vegetation.
(i) | Rainfall
\f - Areas receiving high rainfall encourage growth of ) a %
( o

many varieties of tree spemes/ haxuntinf Ve /d f‘!j

(Qq
Areas receiving low rainfall have few spec:és/sm

vegetation. N7

Any-1 x 2=2-marks

- Iea df b el Taw  (hanfed  Vegedalin

k\“? [X L
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-

x (1)

Solls
Im)d well drained soils support growth of dense
Vegﬂmon“

Poor/infertile/shallow! thin soils support scanty

vegetation?’ Ay | EL 4
IR

(c)

State five uses of savanna vegetation.

The gruslnnd area is used for livestock
ﬁmms/srmnz

The vegetation provides habitat for wild annmls
Trees are used for bee keq)m{

Some of the vegetation is used for medicinal puéoscs
Some of the vegetation provides wild fruitend-berres.
Trees are a source of wood fuel.

Somc of the vegetation provide building materials.
e !Clu (&\-( (&1 (‘((v ety f'h " 'f_, ; s-bn’ \ e .V

’

A 3"“'{ Th | S

(d) ()

You intend to carry oui a ficld study on vegetation

within the local environment.
(1) State three objectives you would formulate for the

study. ,
-To identify vegetation species dominant in the arca.
-To find out how the local people benefit from the

vcgmu'on‘./
-To investigate prob
-To find out methods used to conserve vegetation in

the arca oy 3K 3

: N i
lems facing vegetation in the area.

(ii)

Give four reasons why it is important to have a work

schedule.
It helps in carrying out the field activities

v/
systematically.

312/1 M5 14



- It helps/in estimating the total time required for the
study‘\' ‘

- Itensures all areas of study are adequatel\)} covered./

- It helps in assessing progress of the study.

- It enables for proper use of available time.

- It confines one to the scope of the %Ei\df 4 p

(a) (1)

Apart from biological weathering list two other types of
weathering

- Mechanica/];’physical
- Chemical” 5

(i1)
Gl

Explain ways in which plants cause weathering of

rocks.

- Roots of plants/trees penetrate into the joints/cracks of
rocks widening them hence causing the rock to
disintegraté'.{/ }Wﬁ. 0

- Plants decompose/rot forming organic]acids which
causes rock decay%isintegration.

- Mosses and lichens moisten rock surfaces facilitating

chemical weatheringt{/

- Widening of crack and joints by plants roots allows
water and air to enter into the rocks hence accelerating

thering?
weathering! Ay 362 b

g Any-3 x-2-= 6-marks

N

(b)

#(0)

Explain how the following physical factors influence

mass wasting.

Earth movements

- Volcanic eruptions/earthquakes cause tremors which
may trigger displacement of materialgwide spread

mass wasting,. >

Z-marks

b o

(i)
4

Nature of rock material

312/1MS515




Ll‘.‘u '““ (B i‘ ‘I”f"‘([ l((-‘(iu\l_(cl 'CiAn l“ (v -
B W C\epe s

: rl‘"'&:‘—“’g:r) rock materials move rapidly on a slope, =
Since they-are-overcome by. gravity fhinly bedded
layers tend to move faster, ©*°

- Saturated rock materials move faster down a slope than

\

( A "‘L:.-"\[lg_.ki <
Foy 1R 2

Any | x 2=2marks

(<)
(1)

Describe each of the following processes of mass
wasting.

Avalanche

tis-a sudden movement of a large mass-of snow/ice
with loose materials down slope due to gravitational
putt-

It occurs when a fresh fall of snow is not firmly

The thawing action of ice lubricates weathered rock (
AP

and large ice blocks making them slide downhill-ns&i—'~

avalanche. 4 ) 3

consolidated hence slides over the older snow/ice, & 1"'**("']

b

-

Any-2-x-|-=2-marks

(1)

Rockfall e ’/
It involves free fall 'gfdcmchcd rocvk;ﬁown a
neeﬁvenical slope.
- They may fall directly downwards or bounce and roll
down the slope.
- It may occur due to freczcvttnw' posming
| eting L cue '{J é‘t_.yf" rlpe iy
action of plant ml{mnduﬂweo&wmanulﬁuu
. The debris form-cone shaped heap-at-the foot oi the
clifftt: .

Y LAy

,-,

-
-

-") LS e

1

| 5 Any 3 xt=3-marks

(d)

(1)

Describe each of the following types of mass wasting.

Earthflow
- It occurs in humi ‘c/o 1ons.
- l“"will' [ A 1 Ll L\Ll“i 4
- Materials on ace gel saturated with water.
( Ly L' /
- They ﬂow{ down fhe hill under the influence of gravity.

- They leave behind shallow scn'r/s

312/1 M5 16



- They form small bench like terraces at their

destination. R
M v FRI 4

(ii)

Slump

v’ [ tve S
- It occurs on very sleep-slepes.tt‘“"'“' =1®

- A massive sedimentary strata overlying weak roc':'{

materials e.g. clay.
- The underlying rock material is saturated with water.
- This causes undercutting%reaking off of the overlying

rock materials.
The large mass of rock and loose materials shear/tear

away along the concave plane.
v’

- The rock material slidesg;wnhill causing a slump!

Ay 4"/ éﬁ‘ ‘1_4“\

10.
(a) (D)

Give three features found in the upper stage of river.
- V-shaped va]leys..
= Potholesiplunge poolst”/
- Interlocking spurs.
- Waterfalﬁrapids/cataracts.
Gorgé( canyons . fny 3| 3

-— N awhA

(i)

State four ﬁctors that favour the formation of braided

channels
- The river must be carrying a large load

- There should be reduction in the stream gradientr
- There should be presence of obstacles.‘/
There should be reduction of volume of waterf'd/ué'—nte
Ké&éﬁ@mt:oﬂ&rﬂm
- The river flows at low ve10c1ty‘/ -
—  rocine '«:‘ ih Qi Cla il
5/'

J\,_]{ A | Z'_

Any 4 x 1 =4 marks

(b)

Explain t

he processes which a river transports it’s load.

312/1 MS 17




Light insoluble materials such as silt and sand are
carried in suspension and maintained within the
turbulence of the wntc‘./ egomc of them float on the
surface of the water. & ea/ W \/J
Large particlesboulders ¥re pushed and rolled along
the river bed by the force of gravity and moving walter.
This process is known as u-:v:tiorl‘/P

Soluble matenals are dissolvcd'ﬁel/he water and camied
down the stream in form of so|ulion.\/?

Some particles/pebbles “he{/‘:h are fg\i}ﬂ)ﬂ heavy are
moved in a series of Icapla_tho s/)\a!c:’ng the river bed
through a process known as saltation. Y

A x2=8 marks

\ e F’H’}

o
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(c)

With the aid of well labelled diagrams describe how a river capture occurs.

’-"
/
et

- "
‘ % Less powerful

river

A
E

-— |nd Gap

Misfit river

l .
“Ihow of capture | #Z|"
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- River capture may occur where there are two adjacent
n!pmiian a watershed. )

- One of the rivers has more erosive po_gv_grvll’ltnn the other.

- The more powerful river erodes bath vertically and
1ateratly faster than the weaker one thus it flows ata
lower level than the other one.

- The more powerful niver erodes it’s vallgy loyrards' li?c v
valley of the other river, Vit"l"j"" ho "l'”‘f""'{' 0itid t

Eventually the Bowerful river joins the valley of the

weaker river”

- The powerful river dirw;a'_ls the head waters of the weaker

’a\ertugio&:dgn{g Wedhamtin 1 Glld Ruid

(d)

State three negative effeg}L of rivers to #n an  (OPhue

environment. C( _ j 2, ;‘ T

- Some rivers with almost stagnant water harbor
waterbomne discases, V¢t

- Some rivers flood during rainy scasons causing
destruction of property aad life”

- Some rivers are home to dangerous animals which may

attack human beings/destroy crops.

- Rivers which are unnavigable hinder tmnsponaliod'./ Any3xt=3-marks
- ’2“'“"'( 5 r;‘“_{"’f“ ((/\U.Jt.l ({'ff?)ﬂ[frwh.;'r "‘):
P@CP 'Gf L
2,
f\ﬂm] 24 A .73t
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